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ϮϬ 

Section � 

Yϳ Model Solution ʹ ϰϱ Marks Marking Notes 

;aͿ 
;iͿ 

Scale ϭϬ� ;Ϭ͕ ϰ͕ ϳ͕ ϭϬͿ 
Low Partial Credit:  

Ͳ ϭ correct fraction given in table
Ͳ ϭ correct denominator
Ͳ ϭ correct numerator

High Partial Credit: 
Ͳ Ϯ correct fractions given in table
Ͳ All numerators correct
Ͳ All denominators correct

. 

𝐴 𝐵 𝐶 𝐷 𝐸 

&raction  
1
3

2
9

4
27

8
81

16
243

;aͿ 
;iiͿ 𝑎 =

1
3

  𝑟 =
2
3

𝑆௡ =
𝑎(1 − 𝑟௡)

1 − 𝑟

𝑆௡ =

1
3 ൬1 − ቀ2

3ቁ
௡

൰

1 − 2
3

𝑆௡ = 1 − ൬
2
3൰

௡

Scale ϱ� ;Ϭ͕ Ϯ͕ ϯ͕ ϱͿ 
   Low Partial Credit:  

Ͳ 𝑆௡ formula with some substitution
Ͳ Correct 𝑎 or correct 𝑟 identified

   High Partial Credit: 
Ͳ 𝑆௡ formula fully substituted

;aͿ 
;iiiͿ Infinite 'eometric Series 𝑎 =

1
3

  𝑟 =
2
3

𝑆ஶ =
𝑎

1 − 𝑟
=

1
3

1 − 2
3

= 1 

Or 

lim
௡→ஶ

𝑆௡ =  lim
௡→ஶ

ቀ1 − ቀ ଶ
ଷ
 ቁ

௡
 ቁ = 1

Scale ϱ� ;Ϭ͕ Ϯ͕ ϯ͕ ϱͿ 
Low Partial Credit:  

Ͳ 𝑆ஶ indicated
Ͳ Correct 𝑎 or correct 𝑟 identified

High Partial Credit: 
Ͳ�����𝑆ஶ fully substituted

Note͗  If |𝑟| > 1, then award low�partial 
credit at most 



Ϯϭ 
 

;bͿ 
;iͿ 

 

>abel 𝐴 𝐵 𝐶 𝐷 E F 

EndͲpoint 
2
3

 
2
9

 
7
9

 
8
9

 
7

27
 

25
27

 

 
 

 
Scale ϭϬ� ;Ϭ͕ ϰ͕ ϳ͕ ϭϬͿ 
Low Partial Credit:  

Ͳ ϭ correct fraction given in table 
Ͳ All denominators correct 

 
High Partial Credit:  

Ͳ ϰ correct fractions given in table 
 

;bͿ 
;iiͿ 

 
It is the end point ;start pointͿ of a 
segment 

Kr 

Kr 
଻

ଶ଻
− ଵ

଼ଵ
= ଶ଴

଼ଵ
 is a point in the Cantor 

Set 
 

 
Scale ϱ� ;Ϭ͕ Ϯ͕ ϱͿ 
Mid Partial Credit:  

Ͳ Zelevant but incomplete reason 
given 

Ͳ Sum of fractions = ଶ଴
଼ଵ

 
 

;bͿ 
;iiiͿ 

 

𝑆ஶ =
𝑎

1 − 𝑟
=

1
3

1 − ቀ− 1
3ቁ

=
1
4

 

Kr 

1
3

+
1

27
+

1
243

+ ⋯ =
1
3

1 − 1
9

 

=
3
8

 

− ൬
1
9

+
1

81
+

1
729

+ ⋯ ൰ = − ቌ
1
9

1 − 1
9

ቍ 

= −
1
8

 

𝑆ஶ =
3
8

−
1
8

 

=
1
4

 

 

 
Scale ϭϬ� ;Ϭ͕ ϰ͕ ϳ͕ ϭϬͿ 
Low Partial Credit:  

Ͳ 𝑆ஶ indicated 
Ͳ 𝑆ஶformula with some substitution 
Ͳ Correct 𝑎 or correct 𝑟 

 
 
High Partial Credit: 

Ͳ 𝑆ஶ formula fully substituted 
 

 
  

1
3

−
1
9

+
1

27
−

1
81

=
20
81

 
 

       
6

27
          ⃘             ⃘             𝑬

7
27

 
 

             
18
81

     
19
81

         
20
81

      
21
81

 

 


